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Answer, Q3: Students would have less incentive to choose a major or program that leads to a high-paying
job on graduation. Some students currently feel financial pressure to pick majors that will enable them to
live comfortably while paying off large student loans. If the loan repayment plan were income-contingent,
students would be able to choose majors based on their own preferences and strengths rather than their
ability to repay the loans.

While this scheme would ease students’ financial worries, it would not necessarily be efficient. It has
been claimed that one of the rationales for subsidized student loans is to offset failures in the credit
market. But a working credit market would not freely accommodate a student’s wish to pursue a career
in art rather than in business. A fully functioning credit market would lend more money to a student
pursuing a lucrative major and would lend less to a student seeking a rewarding but low-paying career
because the financial returns to these choices differ.

Students who choose lower-paying careers must be making a trade-off between money and other sources
of utility. An income-contingent repayment plan would encourage students to choose lower-paying jobs
because they would not have to bear the full cost of that choice.



